PROBLEM SET 6
Consider the process e+ e- ( + -  in the centre of mass frame. This problem set takes you through the various steps necessary to derive cross section formulae for this process. 
1) Draw the lowest order Feynman diagram assuming one photon exchange and write down the corresponding amplitude.
2) Show that the spin averaged squared matrix element has the form
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where Q2 is the square of the total centre of mass energy
3) Evaluate the traces and the tensor contraction (neglecting lepton masses) and show that
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4) Hence show that the total cross-section is given by

[image: image3.wmf]2

2

3

4

Q

pa

s

=


_1251805197.unknown

_1251805198.unknown

_1251804960.unknown

